

# CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-67250-690e335d24bbf

**VERIFY.FTGS.US** Date: November 07, 2025

Seller (Exporter)  Bolit Natural International INC.	Transport Type Air	Port of Loading Hong Kong
3990 Valley Blvd Walnut	Destination Country	Destination Port
CA USA	China	Zhengzhou
Consignee	Export Date **************	Exporting Carrier **********************************
Jason international trading(Huzhou)Limited Room 407,Building 7, No.318 Dongpo Road Huzhou City, Zhejiang province	Import Permit Number	Bill of Lading / AWB
China	Owner or Agent ************************************	Forwarding Agent ************************************
Buyer (Importer)	Remarks	G#309G

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
USBER ABK Composite powder	6.00KG	United States
USBER Fruit and vegetable enzyme powder CHAMBED	6.10KG	United States
USBER Calcium BEVERAGE	14.00KG	United States
USBER Iron beverage	14.50KG	United States
USBER Zinc beverage	14.50KG	United States
USBER Yeast composite beverage	14.30KG	United States
USBER Blueberry Lutein Ester beverage	14.30KG	United States
USBER PROTEASE(30ml)	6.30KG	United States
USBER Lactase(15ml)  Accredited Chamber US2100201	3.00KG	United States
USBER Composite Probiotics Drink(12ml)	4.00KG	United States
USBER Shumin Composite Probiotics Drink(12ml)	4.00KG	United States
USBER Lysozyme(60ml)	9.00KG	United States
USBER DHA Algal Oil Complex Phosphatidylserine Gel Candy(60 CANDIES)	6.00KG	United States
USBER Calcium Drops Drink(60ml)	9.50KG	United States



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
   The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Buyer (Importer)

## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-67250-690e335d24bbf

**VERIFY.FTGS.US** Date: November 07, 2025

Port of Loading Transport Type Seller (Exporter) Air Hong Kong Bolit Natural International INC. 3990 Valley Blvd **Destination Country Destination Port** Walnut China Zhengzhou CA USA **Export Date Exporting Carrier** Consignee Jason international trading(Huzhou)Limited Import Permit Number Bill of Lading / AWB Room 407, Building 7, No.318 Dongpo Road Huzhou City, Zhejiang province China **Forwarding Agent** Owner or Agent

Remarks



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ORISS Protease(30ml)	6.50KG	United States
IORISS Lactase(15ml)	3.00KG	United States
ORISS Composite Probiotics Drink(12ml)	60.00KG	United States
ORISS Shumin Composite Probiotics Drink(12ml)	4.00KG	United States
ORISS Lysozyme(60mL)	9.00KG	United States
ORISS Calcium magnesium zinc beverage	14.00KG	United States
ORISS Yeast composite beverage	14.00KG	United States
ORISS ?- aminobutyric acid beverage	14.00KG	United States
CHAMBERS FEDERATION		



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Los Angeles Area Chamber of

Commerce ("LAACC") is accurate, true and complete.

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing

of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.



# **Bolit Natural International INC**

3990 Valley Blvd, Suite C Walnut, CA, 91789 E-mail: bolitnatural2016@gmail.com http://www.biolitnatural.com

## Invoice

Supplier: Invoice No. 2511E004

BOLIT NATURAL INTERNATIONAL INC. 3990 Valley Blvd, Suite C Walnut, CA, 91789

E-mail: bolitnatural2016@gmail.com

Date:Sep 24, 2025

#### **Customer:**

Jason international trading(Huzhou)Limited Room 407,Building 7, No.318 Dongpo Road, Huzhou City, Zhejiang province

Item No.	Description	Qty.	<b>Unit Price</b>	<b>Extended Price</b>
1	USBER ABK Composite powder	20	\$4.85	\$97.00
2	USBER Fruit and vegetable enzyme powder	30	\$2.85	\$85.50
3	USBER Calcium beverage	30	\$3.50	\$105.00
4	USBER Iron beverage	30	\$3.50	\$105.00
5	USBER Zinc beverage	30	\$3.50	\$105.00
6	USBER Yeast composite beverage	30	\$3.50	\$105.00
7	USBER Blueberry Lutein Ester beverage	30	\$3.50	\$105.00
8	USBER PROTEASE(30ml)	60	\$2.25	\$135.00
9	USBER Lactase(15ml)	60	\$2.35	\$141.00
10	USBER Composite Probiotics Drink(12ml)	60	\$2.35	\$141.00
11	USBER Shumin Composite Probiotics Drink(12ml)	60	\$2.35	\$141.00
12	USBER Lysozyme(60ml)	60	\$2.95	\$177.00
13	USBER DHA Algal Oil Complex Phosphatidylserine Gel Candy(60 CANDIES)	54	\$3.45	\$186.30
14	USBER Calcium Drops Drink(60ml)	60	\$1.45	\$87.00
15	NORISS Protease(30ml)	60	\$2.25	\$135.00
16	NORISS Lactase(15ml)	60	\$2.35	\$141.00

			<b>Total Invoice</b>	\$2,765.80
22	NORISS γ- aminobutyric acid beverage	30	\$3.50	\$105.00
21	NORISS Yeast composite beverage	30	\$3.50	\$105.00
20	NORISS Calcium magnesium zinc beverage	30	\$3.50	\$105.00
19	NORISS Lysozyme(60mL)	60	\$2.95	\$177.00
18	NORISS Shumin Composite Probiotics Drink(12ml)	60	\$2.35	\$141.00
17	NORISS Composite Probiotics Drink(12ml)	60	\$2.35	\$141.00

Merchandise Received By:

NATURAL INTERNATIONAL INC.

THANK YOU FOR YOUR BUSINESS

